
Suitable for DAF 

GRANTRUCK Group 



--
GRANTRUCK Group 

GRANTRUCK FOR SPARE PARTS 

PRODUCT GRANTRUCK 
REFERENCE 

10110 

10069 

10083 

10140 

10142 

10062 

10141 

10001 

ORIGINAL 
REFERENCE 

1212817 

1292419 

1212816 
0078026 

1292418 

1212817 

1252280 

742607 

0295669 
0512681 

OAF 

PRODUCT 
NAME 

Engine Mounting 
Motor Takozu 

Engine Mounting 
Motor Takozu 

Engine Mounting 
Motor Takozu 

Engine Mounting 
Motor T akozu 

Engine Mounting 
Motor T akozu 

Engine Mounting 
Motor Takozu 

Engine Mounting 
Motor T akozu 

Rubber Mounting 
Rear 

Motor T akozu 
Arka 

RUBBER & METAL 

DIMENSIONS 

L = 191 
W = 300 
h = 165 

L = 191 
W = 300 

h=170 

L = 191 
W = 300 

h=160 

L = 192 
W= 120 

M 12 x 1.5 

M14x1,5 
M12x1,5 

4 Delik 

MODELS 

F 2800 
F 3300 
F 3600 

160<< O.E.M oo·s are used for reference purposes only and it is not i"l' lied that "&r/ part listed is the prodoct of these maoofacturer. 



--
GRANTRUCK Group 

GRANTRUCK FOR SPARE PARTS 

MODELS 

F 2800 
F 3300 
F 3600 

F 2800 
F 3300 
F 3600 

F 2100 
F 2300 
F 2500 

F 2100 
F 2300 
F 2500 

6,8,11 LTR 
Engines,95XF , 

95XF-530, 
F17,F19,F21,F23,F 

25 ,F65,F75,F85, 
F95 

DESCRIPTION 

M14x1 ,5 
M 12 X 1,5 

2 Delik 

M14x1.5 

M14x1.5 

M12x1.5 

Delik M 12 x 1,5 
Civata M 10 x 30 

Delik M 12 x 1,5 
Civata M 10 x 30 

Delik M 12 x 1,5 

0=060 
h=39 

M12x1,5 

PRODUCT 
NAME 

Rubber Mounting 
Rear 

Motor Takozu 
Arka 

Engine Mounting 
Motor Takozu 

Engine Mounting 
Motor Takozu 

Engine Mounting 
Motor Takozu 

Engine Mounting 
Front 

Motor Takozu 
6n 

Engine Mounting 
Motor Takozu 

Engine Mounting 
Motor Takozu 

Rubber Mounting 
for Radiator 

Radyator Takozu 

DAF 

ORIGINAL 
REFERENCE 

0295669 
0512681 

1664140 
0078015 

1239183 

0300911 

676331 

0509287 

0672232 

0221342 

RUBBER & METAL 

GRANTRUCK PRODUCT 
REFERENCE 

10002 

10026 

. . , 

10029 
-----------~ ✓ 
. /,,/' 

10030 

10003 

10004 

10005 

10020 

O.EM oo's are used for refereoce purposes ooly am it is not i.-.,lied that any part listed is the prodoct of these mamfacturer. » 161 



--

GRANTRUCK Group 

GRANTRUCK FOR SPARE PARTS 

PRODUCT 

.,, 
) 

., : ) 

GRANTRUCK 
REFERENCE 

10107 

10122 

10123 

10145 

10146 

10050 

10049 

10046 

ORIGINAL 
REFERENCE 

1353428 

1353922 

1297734 

1677024 

1689072 

1377572 
0281514 
0528299 

1650940 

1286075 

DAF 

PRODUCT 
NAME 

Charger Intake Hose 
$arj Havas1 Hortumu 

Hose, Radiator 
Hortum, Radyator 

Radiator Hose 
Radyator Ost Hortumu 

Radiator Hose 
Radyator Ost Hortumu 

Radiator Hose 
Radyator Ost Hortumu 

Radiator Hose 
Radyator Hortumu 

Radiator Hose 
Radyator Hortumu 

Charger Intake 
Hose 

Sarj Havasi 
Hortumu 

RUBBER & METAL 

DIMENSIONS MODELS 

0=0100 X 155 X 165 

076 x 75mm 

055x 50x 110mm 

0100 x 130mm 

162<< O.E.M oo's are used for reference purposes only and it is not i"l' lied that '&r/ part listed is the prodoct of these maoofacturer. 



GRANTRUCK Group 

GRANTRUCK FOR SPARE PARTS 

MODELS DESCRIPTION 

0100 x 120mm 

0100 x400mm 

PRODUCT 
NAME 

Charger Intake 
Hose 

Sarj Havasi 
Hortumu 

Charger Intake 
Hose 

Sarj Havasi 
Hortumu 

Turbo Hose 
Turbo Hortumu 

Transmission F 2800 
F 3300 
F 3600 

Delik M 14x1 ,5 Mounting 

D=030 
h=31 

M 8 X 1,25 

D=031 
h=30 

D=038 
d=020 

D=090 
d=020 
h=70 

$anzuman Takozu 

Air Filter Mounting 
Hava Filtresi 
Yataklama 

Rubber Buffer, Air 
Filter 

Hava Filtre Takozu 

Gear Shift Bushing 
Vites Kolu Burcu 

Engine Mounting 
Kabin Takozu 

OAF 

ORIGINAL 
REFERENCE 

1204236 

1378391 

1675763 

0633981 

1233247 

0088371 

1284698 

1314545 

RUBBER & METAL 

GRANTRUCK 
REFERENCE 

10048 

10047 

10147 

10006 

10038 

10063 

10065 

10011 

PRODUCT 

O.EM oo's are used for refereoce purposes ooly am it is not i.-.,lied that any part listed is the prodoct of these mamfacturer. » 163 



--
GRANTRUCK Group 

GRANTRUCK FOR SPARE PARTS 

PRODUCT GRANTRUCK 
REFERENCE 

10066 

10067 

10070 

10077 

10061 

10035 

10071 

10025 

ORIGINAL 
REFERENCE 

1405552 

1405437 

1401515 

1401516 

0295726 

0293898 

1671219 

1368283 

DAF 

PRODUCT 
NAME 

Cabin Bushing 
Kabin Burcu 

Cabin Bushing 
Kabin Burcu 

Silent Block, Spring 
Ses Kesme Blogu, 

Makas 

Stabilizer Bush 
Denge Kolu Burcu 

Stabilizer Bush 
Denge Kolu Burcu 

Spring Bushing 
Makas Burcu 

Stabilizer Bush 
Denge Kolu Burcu 

Spring Bushing 
Makas Burcu 

RUBBER & MET AL 

DIMENSIONS 

D=040 
d=014 
h=80,5 

D=070 
d=029 
h=117 

L=143 
D=046 

D=046 
d=016,75 
h=82 

D=055 
d=020 
h=56 

D=055 
d=020 
L=56 

D=061 
d=024 
h=86 

D=062,5 
d=024 
h=106 

MODELS 

164<< O.E.M oo's are used for reference purposes only and it is not i"l' lied that '&r/ part listed is the prodoct of these maoofacturer. 



GRANTRUCK Group 

GRANTRUCK FOR SPARE PARTS 

MODELS 

XF95 
XF 105 

XF95 
XF 105 

DESCRIPTION 

D=062,5 
d=024 
h=86 

D=036,5 
d=016 
h=48 

020x74,5x62 

PRODUCT 
NAME 

Spring Bushing 
Makas Burcu 

Stabilizer Bush 
Denge Kolu Burcu 

Rubber Mounting 
Bur9 

Rubber Buffer 
Bur9, 

Surucu Kabini 
Yataklamas1 

Rubber Buffer 
Bur9, 

Surucu Kabini 
Yataklamas1 

Cabin Bushing 
Kabin Burcu 

Cabin Bushing 
Kau9uk, Kabin Burcu 

Cabin Bushing 
Kabin Burcu 

DAF 

ORIGINAL 
REFERENCE 

1357764 

1400396 

1371070 

365453 

1694967 

1403089 

1290794 

1425160 

RUBBER & METAL 

GRANTRUCK 
REFERENCE 

10024 

10068 

10086 

10089 

10090 

10092 

10106 

10119 

PRODUCT 

O.EM oo's are used for refereoce purposes ooly am it is not i.-.,lied that any part listed is the prodoct of these mamfacturer. » 165 



GRANTRUCK Group 

GRANTRUCK FOR SPARE PARTS 

PRODUCT 

eeoo !fil II 
oo oo \\ 
00 00 

0 
.. ~ 

--­.. 

GRANTRUCK 
REFERENCE 

10121 

10126 

10127 

10143 

10088 

10111 

10112 

10076 

ORIGINAL 
REFERENCE 

1266426S1 

1399159 

1271385 

1266426 

1611229 

366351 

1283618 

1401465 

DAF 

PRODUCT 
NAME 

Repair Kit, Cab 
Tamir Tak1m1, Kabin 

Seal Ring, Cab 
Ke~e, Kabin 

Seal Ring, Cab 
Ke~e. Kabin 

Cabin Bushing 
Kabin Burcu 

Stabiliser Mounting 
Yatak Burcu ,Yaprak yay 

Bearing, Stabilizer Bar 
Yatak, Denge Kolu 

Rubber Bushing, 
Stabilizer Bar 
Kau~uk Bur~. 
Denge Kolu 

Stabilizer Bush 
Denge Kolu Burcu 

RUBBER & METAL 

DIMENSIONS 

048x70x5 

048 ,5x62x5,7 

D = 084,5 
d = 064 
h = 60 

020 ,3x60,2x59,5 

0=051 ,5 
d=022 
h=76 

MODELS 

XF95 
XF 105 

CF 85 
XF95 
XF 105 

XF95 
CF 85 

166<< O.E.M oo's are used for reference purposes only and it is not i"l' lied that '&r/ part listed is the prodoct of these maoofacturer . 



--
GRANTRUCK Group 

GRANTRUCK FOR SPARE PARTS DAF RUBBER & MET AL 

MODELS DESCRIPTION PRODUCT ORIGINAL GRANTRUCK PRODUCT 

0=031 
d=039 
Ax= 75,50 

0=037 
d=032 
L=72 

0=042 
d=032 
Length=95 ,5 

0=062 
d=043 
h=60 

0=082 
d=050 
L=75 

0=086 
d=057 
h=60.5 

NAME REFERENCE REFERENCE 

Stabilizer Bush 
Oenge Kolu Burcu 

Stabilizer Bush 
Oenge Kolu Burcu 

Spring Bushing 
Makas Burcu 

Stabilizer Bush 
Oenge Kolu Burcu 

Spring Bushing 
Makas Burcu 

Stabilizer Mounting 
Stabilizer Yatak 

Stabilizer Bush 
Oenge Kolu Burcu 

Stabilizer Bush 
Oenge Kolu Burcu 

679254 

0266412 

0679253 

0266411 

0679254 

1291233 
1732887 

1323838 

0558864 

10013 

10085 

10116 

10012 

10129 

10015 

10079 

10033 

O.EM oo's are used for refereoce purposes ooly am it is not i.-.,lied that any part listed is the prodoct of these mamfacturer. » 167 



GRANTRUCK Group 

GRANTRUCK FOR SPARE PARTS 

PRODUCT GRANTRUCK 
REFERENCE 

10128 

10134 

10007 

10056 

10037 

10125 

10073 

10074 

ORIGINAL 
REFERENCE 

0366351 

1288000 

0298497 

0281007 

0298498 

41270883 

1402571 
1405078 

1402572 
1405079 

RUBBER & METAL DAF 

PRODUCT 
NAME 

DIMENSIONS MODELS 

Bearing , 
Stabilizer Bar 

Yatak, Denge Kolu 

Stabi lizer Bearing 
Yataklama Stab1l1zator 

Stabilizer Bush 
Denge Kolu Burcu 

Stabilizer Bush 
Denge Kolu Burcu 

Stabilizer Bush 
Denge Kolu Burcu 

Half Bearing, 
Stabilizer Bar 
Yanm Yatak, 
Denge Kolu 

Stabilizer Bush 
Denge Kolu Burcu 

Stabilizer Bush 
Denge Kolu Burcu 

D=093 
d=0 56 
h= 70 

D=094 
d=044 
h=80 
h=70 

D=094 
d=062 
h=80 
h=70 

D=093 
d=062 
h=80 
h=70 

D=065 
d=035 

D=064 
d=040 

168<< O.E.M oo's are used for reference purposes only and it is not i"l' lied that '&r/ part listed is the prodoct of these maoofacturer. 



--
GRANTRUCK Group 

GRANTRUCK FOR SPARE PARTS 
......................•................•................................. , ................•................................ , ................• 

MODELS DESCRIPTION PRODUCT 
NAME 

D=065 ,5 
L=067 

D=046 ,5 
d=016 
h=50 

D=059 .5 
d=020.5 
h=31.5 

D=040 
d=025 
h=40 

D=040 
d=025 
h=40 

D=048 
d=024 ,5 
h=25,5 

D=055 
d=017 
Ax=100 

Spring Buffer 
Makas Tamponu 

Spr ing Buffer 
Makas Tamponu 

Spring Bushing 
Makas Burcu 

Stabi lizer Mounting 
Amortisor Burcu 

Shock Absorber 
Bush ing 

Burr;:, Tampon 

Bearing, Shock Absorber 
Yataklama, Amort1sor 

Shock Absorber 
Bush ing 

Burr;:, Tampon 

Ball Joint 
Bugi Kolu Burcu 

Tak1m 

DAF 

ORIGINAL 
REFERENCE 

0388486 

0266031 

1273279 

109860 

698429 

699425 

119140 

82522 

RUBBER & MET AL 

GRANTRUCK 
REFERENCE 

10064 

10053 

10060 

10059 

10081 

10138 

10082 

10023 

PRODUCT 

----- ----. 

O.EM oo's are used for refereoce purposes ooly am it is not i.-.,lied that any part listed is the prodoct of these mamfacturer. » 169 



GRANTRUCK Group 

GRANTRUCK FOR SPARE PARTS 

PRODUCT GRANTRUCK 
REFERENCE 

10031 

00 
10104 

10021 

10039 

10010 

10008 

10009 

10016 

ORIGINAL 
REFERENCE 

1321936 

1243618 

67354 

1376729 

689748 

691703 

689749 

0513757 
0691709 

DAF 

PRODUCT 
NAME 

Ball Joint 
Bugi Kolu Burcu 

Tak1m 

Repair Kit, Axle Rod 
Bugi Kolu Burcu 

Tamir Tak1m1 

Ball Joint 
Bugi Kolu Burcu 

Tak1m 

Ball Joint 
Bugi Kolu Burcu 

Tak1m 

Ball Joint Kit 
Bugi Kolu Burcu 

Tak1m 

Ball Joint Kit 
Bugi Kolu Burcu 

Tak1m 

Ball Joint Kit 
Bugi Kolu Burcu 

Tak1m 

Ball Joint 
Bugi Kolu Burcu 

Tak1m 

RUBBER & METAL 

DIMENSIONS 

D=067 
d=019 
Ax=130 

0=067 
d=017 
Ax=115 

D=075 
d=019 
Ax=130 

D=075 
d=023 
Ax=152 

D=075 
d=017 
Ax=115 

D=085 
d=021 
Ax=152 

D=085 
d=019 
Ax=130 

D=085 
d=021 
Ax=130 

MODELS 

170<< O.E.M oo's are used for reference purposes only and it is not i"l' lied that '&r/ part listed is the prodoct of these maoofacturer. 



--
GRANTRUCK Group 

GRANTRUCK FOR SPARE PARTS 

MODELS DESCRIPTION 

D=095 
d=023 
Ax=152 

065x21 / 152x191,5 

D=072 
M 2000 h=45 

M 20 x 1.5 

0108 

PRODUCT 
NAME 

Ball Joint 
Bugi Kolu Burcu 

Tak1m 

Ball Joint 
Bugi Kolu Burcu 

Repair Kit , Axle Rod 
Bugi Kolu Tamir Tak1m1 

Ball Joint 
Bugi Kolu Burcu 

Tak1m 

Repair Kit, Axle Rod 
Tam1r Tak1m1, 

Suspans1yon Kolu 

Ball Joint Kit 
Suspans1yon Kolu 

Tam 1r Tak1m1 

Repair Kit, Axle Rod 
Tamir Seti , Bugi Kolu 

Spring Bolt 
Yay Pimi 

OAF RUBBER & METAL 

ORIGINAL GRANTRUCK PRODUCT 
REFERENCE REFERENCE 

0696321 
10017 1208071 

698724 10151 

~(§) . 
693778 10105 ...:--C) 0 0 '-

0 0 

--~ 

' • 1398368 10022 0 
C o © 
o ... O 

0069600 10131 OG ooe 
2968454 10148 c o ,eo 

0 0 

1676776 10103 

654792 10139 

O.EM oo's are used for refereoce purposes ooly am it is not i.-.,lied that any part listed is the prodoct of these mamfacturer. » 171 



172<< 

GRANTRUCK Group 

GRANTRUCK FOR SPARE PARTS 

PRODUCT GRANTRUCK 
REFERENCE 

• - 10040 

• - 10041 

10055 

10124 

10152 

10014 

10044 

10042 

ORIGINAL 
REFERENCE 

1361650 
1656428 
0267743 
1361649 

1284860 

1361651 
1368270 
1390932 
1617096 
1793875 

1620437 

1892492 

268043 

371465 

274650 

DAF 

PRODUCT 
NAME 

Tie Rod 
yeki Kolu 

Tie Rod 
yeki Kolu 

V Stay Arm 
V yeki Kolu 

V Stay Arm 
V yeki Kolu 

V Stay Arm 
V yeki Kolu 

Stabilizer Plastic 
Bearing 

Stabilizer Plastik 
Yatak 

Stabilizer Plastic 
Bearing 

Stabilizer Plastik 
Yatak 

Stabilizer Plastic 
Bearing 

Stabilizer Plastik 
Yatak 

RUBBER & METAL 

DIMENSIONS 

L=611 
d=021/21 
Ax=130/130 

L=600 
d=021/21 
Ax=130/130 

L=609 
d=023/23 
Ax=152/152 

0=035 
d=025,5 
h=23 

0=046 
d=025 
h=25 

0=050 
d=040.5 
L=23.5 

MODELS 

O.E.M oo·s are used for reference purposes only and it is not i"l' lied that "&r/ part listed is the prodoct of these maoofacturer. 



--
GRANTRUCK Group 

GRANTRUCK FOR SPARE PARTS 

MODELS DESCRIPTION PRODUCT 
NAME 

0=053 
d=027 

0=059 
d=039 ,5 

0=064 
d=040 

0=070 
d=040 
h=60 

Stabilizer Bearing 
Repair Kit 

Stabilizator Yatag1 
Tamir Tak 1m1 

Bearing Bush Stabilizer 
Yatak Burcu Stab11izator 

Stabilizer Plastic 
Bearing 

Stabilizer Plastik 
Yatak 

Stabilizer Plastic 
Bearing 

Stabilizer Plastik 
Yatak 

Stabilizer Plastic 
Bearing 

Stabilizer Plastik 
Yatak 

Bearing, Stabilizer Bar 
Yatak, Oenge Kolu 

Stabilizer Plastic 
Bearing 

Stabilizer Plastik 
Yatak 

DAF 

ORIGINAL 
REFERENCE 

274651 

299106 

1402562 

0010761 

1401850 

1400147 

538329 

RUBBER & METAL 

GRANTRUCK 
REFERENCE 

10135 

10136 

10072 

10058 

10078 

10130 

10036 

PRODUCT 

O.EM oo's are used for refereoce purposes ooly am it is not i.-.,lied that any part listed is the prodoct of these mamfacturer. » 173 



174<< 

GRANTRUCK Group 

GRANTRUCK FOR SPARE PARTS 

PRODUCT GRANTRUCK 
REFERENCE 

10117 

10027 

10109 

10032 

10043 

10057 

10052 

10051 

ORIGINAL 
REFERENCE 

0763523 

268044 

0259 526 

0268045 

0259523 

0299110 

0268044 

096109 

RUBBER & METAL DAF 

PRODUCT 
NAME 

DIMENSIONS MODELS 

Bearing, Stabilizer Bar 
Yatak, Oenge Kolu 

Stabilizer Plastic 
Bearing 

Stabilizer Plastik 
Yatak 

Bushing, Stabilizer Bar 
Yatak Burcu, Stabilizator 

Stabilizer Plastic 
Bearing 

Stabilizer Plastik 
Yatak 

Stabilizer Plastic 
Bearing 

Stabilizer Plastik 
Yatak 

Stabilizer Plastic 
Bearing 

Stabilizer Plastik 
Yatak 

Stabilizer Plastic 
Bearing 

Stabilizer Plastik 
Yatak 

Stabilizer Plastic 
Bearing 

Stabilizer Plastik 
Yatak 

0=070 
d=055 
L=75 

0=070 
d=050 
L=75 

0=070 
d=050 
L=80 

0=070 
d=051 

0=070 
d=055 
L=75 

0=075 
d=045 
h=60 

O.E.M oo's are used for reference purposes only and it is not i"l' lied that '&r/ part listed is the prodoct of these maoofacturer. 



--
GRANTRUCK Group 

GRANTRUCK FOR SPARE PARTS 
"'"'"""'""'"""'"""'"""""""'"""'"'" 

MODELS DESCRIPTION 

055mm X 18mm 
6011 2RS C3 

060mm 

060mm X 18mm 

070mm 

070mm 

070mm X20mm 
6014 2RS C3 

075mm X20mm 
6011 2RS C3 

PRODUCT 
NAME 

Shaft Center 
Support Bearing 

$aft Ask1s1 

Shaft Center 
Support Bearing 

$aftAsk1s1 

Shaft Center 
Support Bearing 

$aftAsk1s1 

Shaft Center 
Support Bearing 

$aftAsk1s1 

Shaft Center 
Support Bearing 

$aftAsk1s1 

Shaft Center 
Support Bearing 

$aft Ask1s1 

Shaft Center 
Support Bearing 

$aft Ask1s1 

Shaft Center 
Support Bearing 

$aftAsk1s1 

DAF RUBBER & MET AL 

ORIGINAL GRANTRUCK PRODUCT 
REFERENCE REFERENCE 

1298157 10019 
1252249 

1288235 10101 

1782199 10099 

1288242 10100 

1288235 10120 

1235569 10018 

1288231 10034 

1404560 10132 

O.EM oo's are used for refereoce purposes ooly am it is not i.-.,lied that any part listed is the prodoct of these mamfacturer. » 175 



--
GRANTRUCK Group 

GRANTRUCK FOR SPARE PARTS 

PRODUCT GRANTRUCK 
REFERENCE 

10150 

10087 

10114 

10144 

10149 

ORIGINAL 
REFERENCE 

1425157 

1681114 

1332194 

1340450 

1927847 

DAF 

PRODUCT 
NAME 

Shaft Center 
Support Bearing 

$aft Ask1s1 

Connector 
YayPim i 

Metal Pin 
Metal Pim 

Mudguard Strap 
Qamurluk Gerg1 Last1g1 

Mudguard Holder 
Qamurluk Tutucu Last1k 

RUBBER & METAL 

DIMENSIONS MODELS 

176<< O.E.M oo's are used for reference purposes only and it is not i"l' lied that '&r/ part listed is the prodoct of these maoofacturer. 


